


Ex 50

$$\sum_{k=0}^{99} 99 C_k = 2^{99}$$

$$99 C_k = 99 C_{99-k} \quad \forall k,$$

$$2 \sum_{k=0}^{99} 99 C_k = 2^{99}$$

$$\therefore 2^{98}$$

Ex 51

8

(1) $a_n = \sum_{k=0}^n k \cdot n C_k$

$$= \sum_{k=0}^n n \cdot n-1 C_{k-1}$$

$$= n \sum_{k=1}^n n-1 C_{k-1}$$

$$= n \cdot 2^{n-1}$$

(2) $\sum_{k=0}^n k^2 \cdot n C_k = \sum_{k=0}^n k \cdot n \cdot n-1 C_{k-1}$

$$= n \left\{ \sum_{k=0}^n (k-1) n-1 C_{k-1} + \sum_{k=0}^n n-1 C_{k-1} \right\}$$

$$= n \left\{ (n-1) \sum_{k=0}^n n-2 C_{k-2} + 2^{n-1} \right\}$$

$$= n(n-1) 2^{n-2} + n 2^{n-1}$$

Pr 36

$$\begin{aligned}
& \sum_{k=0}^n p^k \cdot n C_k p^k q^{n-k} \\
&= \sum_{k=0}^n n \cdot {}_{n-1} C_{k-1} p^k q^{n-k} \\
&= n p \sum_{k=0}^n {}_{n-1} C_{k-1} p^{k-1} q^{n-k} \\
&= n p \sum_{k=0}^{n-1} {}_{n-1} C_k p^k q^{n-k} \\
&= n p \cdot (p+q)^{n-1} \\
&= n p
\end{aligned}$$

$$\sum_{k=0}^n p^k q^{n-k}$$

Ex 52

$$2C_2 + 3C_2 + \dots + nC_2$$

$$nC_k = n-1 C_{k-1} + n-1 C_k$$

$$= \sum_{k=2}^n k C_2$$

これは二項定理の和だから、定義で導く。

$$= \sum_{k=2}^n \frac{k(k-1)}{2}$$

$$= \frac{1}{2} \sum_{k=2}^n k(k-1)$$

$$a \{ (k+1) - (k-2) \} = 1$$

$$= \frac{1}{2} \sum_{k=2}^n \frac{1}{3} \{ (k+1)k(k-1) - k(k-1)(k-2) \}$$

$$= \frac{1}{6} \{ (n+1) \cdot n \cdot (n-1) - 0 \}$$

$$= \frac{1}{6} n(n^2-1)$$

Ex 38

$$nC_r = n-1 C_{r-1} + n-1 C_r$$

∴

$$n+1 C_{r+1} - n C_{r+1} = n C_r$$

$$n+1 C_{r+1} - r C_{r+1} = \sum_{k=r}^n n C_r$$

$$\therefore n+1 C_{r+1} = \sum_{k=r}^n n C_r$$